CT16-8  Three charges of equal magnitude are arranged as shown.  What is the direction of the Electric field at point P?
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An electron is fired into the region of the three charges from the lower right as shown.  What is the direction of the acceleration of the electron when it is at point P?
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CT16-9 A positive point charge is near a bar of metal.  The electric field in the vicinity of the point charge and the bar are shown by the field lines in the figure.
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From the figure, what can you say about the net charge on the bar?

A) Qbar = 0


B) Qbar > 0 (the bar has a net positive charge)

C) Qbar < 0 (net negative charge)


D) Not enough information in the figure to answer the question.

From the figure, what can you say about the magnitude of the charge on the bar 
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, compared to the magnitude of the charge Q of the positive point charge?
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CT16-10  A dipole is placed in an external field as shown.   In which situation(s) is the net force on the dipole zero?


[image: image8]
A)  (1) only


B) (2) only

C) (1) and (2)


D) (3) and (4)

E) (2) and (4) 

CT16-11  Consider two infinite uniform planes of equal and opposite charge (as you might find on a parallel plate capacitor).  The planes are seen edge-on in the diagram below.  In each of the three regions I, II, and III, is the electric field up, down, or zero?

A
I. Up         II.  Zero          III. Up

B)
I. Up         II.  Down        III. Up. 

C) 
I. Zero      II.  Down        III. Zero.

D)    
I. Up         II.  Down        III. Zero.
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CT16-12 A metal sphere has a net charge +Q which is spread uniformly over its surface.  How does the magnitude of the electric field at point A inside near the surface compare to the magnitude of the field at point B at the center of the sphere.

A)  EA > EB 

B)  EA < EB 

C)  EA = EB = 0

D)  EA = EB ( 0

E) None of these is correct

CT16-13  A charge +Q is brought near a block of wood and induces a polarization as shown.  The net force on the block due to the charge Q is  

A) Attractive 


B) Repulsive


C) Zero
II.
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E) zero or some other 		direction
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